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2L HS2AMEL
HE: OISNACRA(BBEE/MGHEE - 2F)
e DISAET AIEH (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 32,000
Al 581,062
HSXHE e 8 LEANHAMG(EXR) 300,000 220,000 80,000
J| 90,000
Al 210,000
401 AlEHIZL 2 0HY| 300,000 220,000 80,000
J| 90,000
Al 210,000
01 Al&H| 297,855 218,428 79,427
OFZ JiAlel OIS&d 45 AIEMA ALY
217,855,000 = 1Al 217,855
J| 66,000
Al 151,855
O=F%& F0iel OIS&d4E AEMAAY
80,000,000 x 14! 80,000
J| 24,000
Al 56,000
03 AlE 21| 2,145 1,572 573
OUEXY =2 +ENLAY ALY
297,855,000 x0.72/100 2,145
OSats=% AIAINA 296,062 296,062 0
401 AlEHIZL 2 0HY| 296,062 296,062 0
01 Al&H| 295,000 295,000 0
Obls&a RIES Y 23K
100,000,000 =14l 100,000
Obtsa=% =X HS& AL
60,000, 000& = 14! 60,000
OUISa4+E OIAIZSAE FAAE2 (Y SH3
s) 50,000, 000& = 14! 50,000
OltSaE sgt2eld ASAEIHEAY
4,000,000 *5JH & 20,000
OlIs&4+% 612 d KXot HE XA
2,000,000 x5&2 10,000
Olls&aT H4HelAld &4l
55,000,000& = 14! 55,000
03 Al&E 201 Y| 1,062 1,062 0
Olls&4T AIZEMA AE20I
295,000,000 x0.72/100%50%< & 2+> 1,062
AR LETAYE HSANSE(EX) 357,000 357,000 0
Xl 250,000
= 32,000
Al 75,000
401 AlEHIZL 201 Y| 357,000 357,000 0
N 250,000
= 32,000
Al 75,000
01 Al&H| 354,448 354,448 0




FN: 2SS M
HE: OISMSCH(BYES/MOLE - 2F)
Sl DISA4E A& (el mel)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=% g=22 O28+= NEHIAD
287,448,000& » 14! 287,448
Xl 203,000
< 26,000
Al 58,448
O &g922/2 1A OtSa2S AIEIEA
A 67,000,000& =14 67,000
Xl 47,000
< 6,000
Al 14,000
03 A& S THHI 2,552 2,552 0
OLR2 =S AIEMEAY AER2UH
2,552,000 » 14! 2,552
St=CHE AN (BHEES /M6l E - &) 11,014,333 11,525,720 A511,387
2 4,650,000
< 1,394,000
Al 4,970,333
NEBSE ZelAY 1,261,749 1,392,093 A 130,344
SlSEny 2ol 90,753 81,816 8,937
101 @124l 90,753 81,816 8,937
04 JIZHHZ2Z2XNESE S 90,753 81,816 8,937
OE=ZZ el Al 35,317
-al d=EEy 48,2403 1H «152 «7E 5,066
M WSEIZ(22D])
48,2403 x1H 72«62 2,027
-&2d slsgnd 48,2403 1Hx152 «123 8,684
-SEUE ASBEEY
48,240 1H «152 »7& 5,066
-&Z SZ2gEaoE 48,2403 x1H » 15«7 & 5,066
-=H s=Esd 48,240 1B =152 «7 3 5,066
-gdg AsE=E 48,240 1 152 6 4,342
OFXT 0S4 BIJIS AAHI(7THA)
48,240 *17H 22 x73] 11,482
O&«=XF 0lSA HE 25 AHX AHH(4
I A) 48,2403 +8H x22 x53| 3,860
OHESEHIZHE M= (L 9HA)
48,240 *3H «50 A +22 +23] 2,895
C4liE" JI2RES 53,554 ,000& x11.5% 6,159
Odsgod sS#FFd(codiel &#8) 31,040
v ral:] 200,000& x16H 98 28,800
-2 2 203 140,000& 16X 2,240
N=EEE 72l 1,170,996 1,310,277 A 139,281
101 @144 dl 10,335 3,880 6,455
04 JIZHHZ2XREES 10,335 3,880 6,455
O=&Y Dtsdt=& 22l 6,455




2A: H22AE A
B S AT AN (BERE/NGEE - 2H)
thel: SisETE Z22Ad (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
sl 48,2402 »1H 102 128 5,789
-AHEE JI2RE3 5,789,000& x11.5% 666
OF&YH DISsaxE - otx=E AIEE HA (L0
Uxtel #E) 3,880
sl 200,000 x2H x93 3,600
-28 2 203l 140,000& »2H 280
201 Let24d] 770,375 764,643 5,732
01 At 22l 87,075 82,743 4,332
O1.d8t=8H| 54,160
-SIESEHIDE AE MY & 2E Bt=EY|
3,000,000& 3,000
-SIEEDE MIANEE FIZA =2 (o
T2 5IHA) 1,200,000& *6IH 2~ 7,200
-HSETE R0/AY ALY A2 (K
Co 7TIHA) 110, 0003 *8IH L % 123] 10,560
-HIE2EOE Moot s+ 2
450,000 x6 0 =128 32,400
SNYUSEILIHAISA Let=2H|
1,000, 000& 1,000
O2.fA8 1=l 4,200
-HSEHIEY 2Y MRU(S8H=288)|=08
3l) 300,000& x6H 1,800
-tH+=4H dFU= 300,000& x4H «23| 2,400
O4.1l = H| 1,155
-&d= 130,000 »7H x 13| 910
—orM 3} 35,0003 x7H 13 245
O5.= &l 7,560
-SEEDE SAZe o222 =4
7,0003x9E 10 128 7,560
O6.9xt=z 20,000
-&SE U 220 YI(ELE 2,855,
gi,8) ,000,000& *2CH *5IH A #23| 20,000
02 =224l 683,300 681,900 1,400
O1.332ILHA 499,300
-HESEHODE MEIHAES
1,300,000& 1228 15,600
- 28D MIAEBE 442,800
Yy 3,100,000 40 & x128 148,800
sl 2,600,000 *7 L +12& 218,400
MY 700,000 x9 & =12 75,600
—2HOIEEZ MYAEI| A=
300,000& *110H & x128 39,600
~&JlotE el HslH(s=dE 0= 8sl)
100,000 x5H 13| 500
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-ZSTHA AtE2SIF EE2S2(EE2X)
800,000 *13] 800
O3. A2 &HHI K X HI 184,000
—HISEHIZA HHSX SFERYU(FRL 38)
1,400 «10,0004 14,000
-HEEDA A2e L 2ASES(SHA2 1
M) 130,000, 000 130,000
“2HOEHIDA SA2e L 222X (EHE2 9
HA) 40,000,000 40,000
[0:R:]] 3,900 3,900 0
= LH 04 dl 3,900 3,900 0
OY2EHIZIH 2% MIIMESWE ]
60,000 *7H x5 2,100
Otilz=&4dl 9Fu=x 0| 60,000 x6H 5! 1,800
401 A& HI L 204 HI 386,386 537,854 A 151,468
01 Al&H| 385,000 537,000 A 152,000
ORU2AH0IEHBZ AL & X = AHS300HP)
50,000,000& =104 50,000
Ot o x HI Y| (473HP)
30,000, 000& =204 60,000
Oyl oa HI HH| (200HP)
25,000, 000& =204 50,000
O=ETHlE2 Bz WO AH|(270HP)
30,000,000 *2CH 60,000
Ogsylggoad HO FHH|(75HP)
20,000, 000& =204 40,000
Ozl = a HI Y| (500HP)
30,000, 000& =204 60,000
Oyl oxd HO HH|(50HP)
15,000, 000& = 1CH 15,000
OsHiYl2ETa HI FHH|(160HP)
25,000, 000& =204 50,000
03 Al 201 Y| 1,386 854 532
O sEHIZTH AUl AIZL20UH]
385,000, 000& *0.72%*50%< & 2> 1,386
ot AE (Ml R )AFY 441 584 291,044 150,540
ot=& 4 Xl 441 584 291,044 150,540
401 Al HI L £ 0HHI 441 584 291,044 150,540
01 Al& b 440,000 290,000 150,000
OSSN MDY 545 NP4 U =&
150,000,000 =14l 150,000
OSold =22 ot A& 2 AH(L=150m)
40,000,000 =14l 40,000
OHDI| al&2e| (2 &~08) ota=% HUI2AHL=
300m) 70,000,000 x 1Al 70,000




FN: 2SS M
FH: ST HEANS (BHEES/MGI+E - +F)
©el: St AlE (Hel R )AY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJIH We2el ot st=% & X3 AH(L=150m)
50,000,000& =14l 50,000
O&dt =232 ot=% HHIZA
60,000,000& =14 60,000
Odlg erd1el ot & X3 AH(L=80m)
30,000,000& =14l 30,000
OFJl =12l o= FHHlZAH(L=200m)
40,000,000& =14 40,000
03 Al 2 THHI 1,584 1,044 540
Odt=SZ 3 A AIE 201 HI
440,000,000& *0.72%*50%< & 2> 1,584
NEBSE AXAY 9,311,000 9,842,583 A 531,583
= 4,650,000
< 1,394,000
Al 3,267,000
SAYUSEHIHEAEX(EX) 9,311,000 7,939,163 1,371,837
= 4,650,000
< 1,394,000
Al 3,267,000
401 Al HI K 201 I 9,311,000 7,939,163 1,371,837
= 4,650,000
< 1,394,000
Al 3,267,000
01 A& HI 8,800,000 7,330,000 1,470,000
OSANUEEZE AXI3A
8,800,000, 000& 14 8,800,000
= 4,650,000
< 1,394,000
Al 2,756,000
02 Zeltl 500,000 600,000 A 100,000
OSSN ESHITY ZXSAM dLMmF2e 24
=l 500,000,000 =14 500,000
03 Al 2 THHI 11,000 9,163 1,837
OSSN SHIH EXSAt AIE R0
8,800,000, 000& *0.25/100x50%<& 2> 11,000
Heas(HSSMEL)(BIES/H6tsE - &) 26,000,000 20,000,000 6,000,000
LHEHH XK= 26,000,000 20,000,000 6,000,000
SIgEEZ(St+=5) 26,000,000 20,000,000 6,000,000
701 JIEtBI HSHEES 26,000,000 20,000,000 6,000,000
03 BIILELEIIAHMNBNES 26,000,000 20,000,000 6,000,000
Odt+==3INEELE3H H&3
26,000,000, 000& 26,000,000




